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(Ta=25 )
V+ 7'0 V 1) 7-0V
Vib +1.0 Vv
Viewm 0 7.0 v
Pp 200 mw
Topr -40 +85
Tstg 40 +125
|
(Ta=25 )
V' 1.8 5.0 Y]
|
e DC V=5V, Ta=25
MIN TYP MAX
lcc - 320 550 V] A
Vio - 1 5 mV
Ig - 50 250 nA
lio - 5 100 nA
A\/ RL:2kQ 60 85 - dB
CMR+: 2.5V Vcum 5V,
CMR 55 70 - dB
CMR-:0V Vcu 2.5V( 2)
SVR 70 85 - dB
1 VOHl RL:20|(Q 4.9 4.95 - Vv
Vo|_1 RL:20kQ - 0.05 0.1
5 VOH2 RL:2kQ 4.75 4.85 - Vv
Vo|_2 RL:2kQ - 0.15 0.25
Viem CMR>55dB 0 - 5 V
( 2)CMR CMR+,CMR-
CMR+ 25V Vem 5V CMR- oV Vem 2.5V
o A V=5V, Ta=25
MIN TYP MAX
GB R =2k Q - 1 - MHz
Q® m RLZZkQ - 75 - Deg
nVv/
V f=1kH - 10 -
NI z Vv Hz
o V=5V, Ta=25
MIN TYP MAX
SR R =2k Q - 0.4 - Vl/us
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Gv=OPEN,R_ =2k Ta=25
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V=BV, V=1V, f=10kHz,G,=0dB

R=50,R, =2k, Ta=25
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